09.09.2023 -
Donne n°1

Al ~al |6SAE = |9#|-990]|12
A2 ~ a3 |6SAE -1|24|50 |29
A3 ~ a5 |6SAE = |24]-990]12
A4 ~ a7 |6SAE = |34]-990|12
A5 ~ a9 |6SAE = |24]-990|12
A6 ~ all|6SAE = |9#]|-990]|12
A7 ~ al3|6SAE = |24]-990|12
A8 ~ al5|6SAE -1 |9#|50 |29
A9 ~ a2 |6SAE = |24]-990]|12
Al0 ~ a4 |6SAE = |7#]-990]| 12
All ~ a6 |6SAW= |5v|-990]| 12
Al2 ~ a8 |6SAE = |9#|-990]| 12
Al3 ~ al0|6SAE = |x#]-990]|12
Al4 ~ al2|3SAE +3 |34 |-490]26
Al5 ~ al4|6SAE = |24 ]-990| 12
Al6 ~ al6|6SAE = |24 ]-990]| 12
Donne n°3

Al ~ al6|2SA S+1|6v |150 |16
A2 ~ a2 |3SA S-1|6v |-50 |7
A3 ~ a4 |2SA S+2|6v |180 |19
A4 ~ ab |3SA S+1|6v |430 |27
A5 ~ a8 |3SA S-1|6s |-50 |7
A6 ~ al0|1SAxXE-3 |D#|800 |30
A7 ~ al2|3SA S= |4v |400 |23
A8 ~ al4|3SA S+1|6v |430 |27
A9 ~al |3SA S-3|6# |-150]0
Al0 ~ a3 |3SA S-1|6v |-50 |7
All ~ a5 |3SA S-1|6v |-50 |7
Al2 ~ a7 |2SA S= |6v |120 |14
Al3 ~ a9 |1SA S +3|64 |180 |19
Al4 ~ all|3SA S= |4v |400 |23
Al5 ~ al3|2SA S-1 |4v |-50 |7
Al6 ~ al5|3SA S-1|6v |-50 |7
Donne n°5

Al ~ al5|44 E -1 |Re |50 |15
A2 ~al |44 W-1]9¢ |50 |15
A3 ~ a3 |54 W-2 |4¢ |100 |24
A4 ~ a5 |44 W-1]|2¢ |50 |15
A5 ~ a7 |5¢ S -2 |24 |-200]|0

A6 ~ a9 |54 W-2 |2¢ |100 |24
A7 ~all|3¢ N +1|R#&|130 |28
A8 ~ al3|54 E -2 |A¢|100 |24

A9

al6 | 5ax W -2 |64 | 300 |30

l

l

18

18
18
18
18
18

18
18
18
18
18

18
18

14
23
11

23

30
23
23
16
11

23
23

Tournoi de Loverval 9 septembre 2023

Donne n°2

Al ~al |4vy N= |5v |620 |16
A2 ~ a3 |4vy N= |5v |620 |16
A3 ~ a5 |5#xE -2 |V¥]|300 |6

A4 ~ a7 |4y N= |5v |620 |16
A5 ~ a9 |4y N= |7# |620 |16
A6 ~ all|4vy N= |7# |620 |16
A7 ~ al3|5v N-1|5v |-100]|3

A8 ~ al5|4v N+1|5v |650 |28
A9 ~ a2 |5v N-1|9% |-100]|3

Al0 ~ a4 |4vy N= |5¢ |620 |16
All ~ a6 |4vy N= |5¢ |620 |16
Al2 ~ a8 |4v N+1|3& |650 |28
Al3 ~ al0|4vy N+1|6v |650 |28
Ald ~ al2|4vy N= |7# |620 |16
Al5 ~ al4|6v N-3 |3# |-300|0

Al6 ~ al6|4vy N= |5v |620 |16
Donne n°4

Al ~ al6|3SAW +2 |2« |-660|4
A2 ~ a2 |3SAE +3|R#|-690]|0
A3 ~ a4 |3SAW= |Rv |-600]22
A4 ~ a6 |3¢ E = |Re|-110]|28
A5 ~ a8 |3SAE +2|7# |-660|4
A6 ~ al0|4SAE -1 |D#|100 |30
A7 ~ al2|3SAW= |Rv |-600]22
A8 ~ al4|3SAE = |9v |-600]22
A9 ~ al |3SAE +1|Re|-630]|12
Al0 ~ a3 |3SAW +1 |44 |-630]|12
All ~ a5 |3SAW= |Rv |-600|22
Al2 ~ a7 |3SAW= |Rv |-600]22
Al3 ~ a9 |3SAW +1|4s |-630]|12
Ald ~ all|3SAW +2 |2« |-660 |4
Al5 ~ al3|3SAE +1|6# |-630]|12
Al6 ~ al5|3SAW +1 |4« |-630]|12
Donne n°6

Al ~ al5|2vy N+2|8¢ |170]|6

A2 ~al |4v N+1|2¢ |450]|26
A3 ~ a3 |4y N= |2¢ |420]19
A4 ~ a5 |2v N+1|8ea |140]|2

A5 ~ a7 |3SAN= |7# |400]|15
A6 ~ a9 |2v N+3|5¢ |200]|11
A7 ~all|4y N= |7« |420]19
A8 ~ al3|2vy N+2|8a |170]|6

A9 ~ al6|4vy N+1|2¢ |450]|26

l

l

l

l

l

l

l

l

l

l

l

14
14
24
14
14
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27

27
14
14

14
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24

11
28
15
19
11
24



Al0 ~ a2 |5¢ S -1 |24 |-100]|6
All ~ a4 |44 W-1]9¢ |50 |15
Al2 ~ a6 |5¢ S -1 |3% |-100]|6
Al3 ~ a8 |5 E -1 |Ae |50 |15
Al4 ~ al0|5¢ S -1 |3% |-100]|6
Al5 ~ al2 |34 E +1|Ae¢|-170]|2
Al6 ~ ald |44 W-1|2¢ |50 |15
Donne n°7

Al ~ al4|3SAS +2|8v |660 |22
A2 ~ al6|3SAS = |7v|600 |5
A3 ~ a2 |3SAS +1]|7v|630 |13
A4 ~ a4 |3SAS +1|7v|630 |13
A5 ~ a6 |1SAS +1|8% |120 |2
A6 ~ a8 |3SAN +2|xe |660 |22
A7 ~ al0|3SAS +1]|7v|630 |13
A8 ~ al2|3SAS +1]|4v |630 |13
A9 ~ al5|3SAS -1 |7v|-100|0
Al10 ~ al |3SAS +3|7v |690 |26
All ~ a3 |3vx W-3 |74 |800 |29
Al2 ~ a5 |3SAS +1|9%|630 |13
Al3 ~ a7 |3SAS = |7v|600 |5
Al4 ~ a9 |3SAS +2|8#% | 660 |22
Al5 ~ all|3ax E -3 | A¢|800 |29
Al6 ~ al3|3SAS +1|7v|630 |13
Donne n°9

Al ~ al3|4e N+2|As|480 |25
A2 ~ al5|4e4 N= |9¢ |420 |12
A3 ~al |44 N-1|7v|-50 |6
A4 ~ a3 |66 N-1|9¢ |-50 |6
A5 ~ a5 |6SAN-2 |9¢ |-100|0
A6 ~ a7 |64 N= |9¢ |980 |29
A7 ~a9 |64 N-1|8¢ |-50 |6
A8 ~ all|4e N+1|3% 450 |17
A9 ~ ald|4e N+1|7¢ |450 |17
Al0 ~ al6|3SAN+2|5# | 460 |22
All ~ a2 |46 N+2|Aa|480 |25
Al2 ~ a4 |66 N= |7v |980 |29
Al3 ~ a6 |44 N+1|7v |450 |17
Al4 ~ a8 |66 N-1 |As|-50 |6
Al5 ~ al0|4e N+1|9¢ |450 |17
Al6 ~ al2 |64 N-1|7v|-50 |6
Donne n°11

Al ~al2|2v N = |2 |110 |28
A2 ~ ald|4¢ E = |6¥ |-130]|15
A3 ~ al6|4exW +1|Av|-610]|1
A4 ~ a2 |44 W+1|Av|-150]|11
A5 ~ a4 |2« W +2|Ve|-130]|15

l

24
15
24
15
24
28
15
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17
17
28

17
17
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17
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18
24
24
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24
13
13

13
24
13
24
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Al0 ~ a2 |4y N+1|7% | 45026
All ~ a4 |2v N+3|7# |200]|11
Al2 ~ a6 |4v N +1|8¢ |450]|26
Al3 ~ a8 |1v S +3|7¢ |170|6

Al4 ~ al0|3SAS = |D#|400]|15
Al5 ~ al2|4v N-1 |7« |-50 |0

Al6 ~ ald|4vy N+1|7% | 45026
Donne n°8

Al ~ al4|3SAW +2|6% |-460|7
A2 ~ al6|3SAW+2|Vv|-460|7
A3 ~ a2 |3SAW+2|De |-460|7
A4 ~ a4 |6SAW-3 |6# |150 |24
A5 ~ a6 |3SAW +2|5% |-460|7
A6 ~ a8 |6SAW-4 |8« |200 |28
A7 ~ al0|3SAW +1|5v |-430|17
A8 ~ al2|6SAW -4 |5v |200 |28
A9 ~ al5|3SAW+3|5% |-490|0
Al0 ~ al |6SAW-4 |Vv|200 |28
All ~ a3 |3SAW +1|5# |-430|17
Al2 ~ a5 |3SAW +2 |5 |-460 |7
Al3 ~ a7 |3SAW +1|5# |-430|17
Ald ~ a9 |6SAW -2 |64 |100 |22
Al5 ~ all|4SAW= |Vv|-430|17
Al6 ~ al3|3SAW +2|5% |-460 |7
Donne n°10

Al ~ al3|4e W +1|Ae|-650]|17
A2 ~ al5|4e W+1|Vv|-650|17
A3 ~ al |4e W +1|Ae |-650]|17
A4 ~ a3 |46 W +1|Vv|-650|17
A5 ~ a5 |44 W +2|x# |-680|5
A6 ~ a7 |44 W +1|xe |-650 |17
A7 ~ a9 |46 W +2|x# |-680|5
A8 ~ all|4e W+2|3a |-680|5
A9 ~ ald|34 W+2|Vv|-200|25
Al0 ~ al6|4e W +2|V¥|-680|5
All ~ a2 |3SAE -1 |7¥ |100 |30
Al2 ~ a4 |24 W +1|x# |-140|28
Al3 ~ a6 |24 W +3|3a |-200|25
Al4 ~ a8 |4e W +1|xs |-650|17
Al5 ~ al0|4e W +2|x# |-680|5
Al6 ~ al2 |44 W +2|V¥|-680|5
Donne n°12

Al ~ al2|4exS -2 |Av|-500 |4
A2 ~ ald|5v W= |64 |-450 |11
A3 ~ al6|4vy W= |x& |-420 |20
A4 ~ a2 |4y W +1|6e |-450 |11
A5 ~ad |4y W= |64 |-420 |20

l

l

l

l

l

l

l
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l

l

l

l

l

l

l

l

l
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A6

A7 ~ a8 |5¢xE = |x¥ |-550]|6
A8 ~ al0|5#xW -4 | Av|800 |30
A9 ~ al3|3¥ N -1 |x# |-50 |25
Al10 ~ al5|4e W +1|Av|-150]|11
All ~ al |5#xW= |AY|-550]|6
Al2 ~ a3 |3vx N -1 |3¢ |-100]20
Al3 ~ a5 |3¥ N -1 |x# |-50 |25
Al4 ~ a7 |4v N -2 |x% |-100]|20
Al5 ~ a9 |5exW = |AY|-550]|6
Al6 ~ all|44exW +1|Av|-610]|1
Donne n°13

Al ~ all|3vy W-1|9«4 |100 |17
A2 ~ al3|34 N = |Dv|140 |22
A3 ~ al5|4vy W -2|xe |200 |27
A4 ~al |4y W-1|xv |100 |17
A5 ~ a3 |2v W= |Ve|-110]|7
A6 ~ a5 |3vxW-1|xv |200 |27
A7 ~ a7 |2v W= |4e |-110]|7
A8 ~ a9 |2v W= |xv |-110]|7
A9 ~ al2|24 N = |Dv|110 |20
Al0 ~ ald4 |2y W= |xv |-110]|7
All ~ al6|2vy W= |xv |-110]|7
Al2 ~ a2 |2v W= |4¢ |-110]|7
Al3 ~ a4 |2v W= |Ve|-110]|7
Ald ~ a6 |4y W -2 |Ve |200 |27
Al5 ~ a8 |4y W -2|xv |200 |27
Al6 ~ al0|2vy W= |4e |-110]|7
Donne n°15

Al ~al0|3v E -1 |54 |50 |19
A2 ~ al2|4e4 N -1 |Av|-100]|14
A3 ~ ald|4e N -2 |Av|-200|8
A4 ~ al6|4vy E -1 |Re |50 |19
A5 ~ a2 |2v E +1|5e« |-140|11
A6 ~ ad |4vxE -2 |54 |300 |26
A7 ~ a6 |24 N = |Av|110 |24
A8 ~ a8 |3v E = |5& |-140|11
A9 ~ all|d4vy W-1 |A« |50 |19
Al0 ~ al3|4vy E -1 |54 |50 |19
All ~ al5|4ex N -2 |Av|-500|1
Al2 ~ al |1ex N +1|Av|360 |29
Al3 ~ a3 |3ax N -2 |Rv|-500|1
Al4 ~ a5 |34 N -3 |Dv|-300|5
Al5 ~ a7 |44 N -3 |Av|-300|5
Al6 ~ a9 |lex N +1|Av|360 |29
Donne n°17

Al ~ a9 |5v W= |4¢ |-450]|3

a6 |4y N -2 | 9# |-100] 20

l

l

l
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A6 ~ a6 |4y W= |64 |-420 |20 ~ 10
A7 ~ a8 |5v W= |6e |-450 |11 ~ 19
A8 ~ al0|5v W-1 |64 |50 |27 ~ 3
A9 ~ al3|4y W= |6e |-420 |20 ~ 10
Al0 ~ al5|4vy W= |64 |-420 |20 ~ 10
All ~ al |5y W-1 |64 |50 |27 ~ 3
Al2 ~ a3 |44xS -2 |6% |-500 |4 ~ 26
Al3 ~ a5 |44xS -4 |Av|-1100|/0 ~ 30
Al4d ~ a7 |4exS -2 |Av|-500 |4 ~ 26
Al5 ~ a9 |4y W +1|6e |-450 |11 ~ 19
Al6 ~ all|6y W-2 |64 |100 |30 ~ O
Donne n°14

Al ~ all|3SAS +2|8v |460|17 ~ 13
A2 ~ al3|4vy N+1|6% |450|10 ~ 20
A3 ~ al5|4v N+2|94 |480|22 ~ 8

A4 ~al |3y N+3|94 |230|4 ~ 26
A5 ~ a3 |2v N+3|94 |200|1 ~ 29
A6 ~ a5 |3SAS +2|2¢ |460|17 ~ 13
A7 ~ a7 |4y N+1|9«4 |450|10 ~ 20
A8 ~ a9 |4y N+1|3% |450|10 ~ 20
A9 ~ al2|4vy N+2|94 |480|22 ~ 8

Al0 ~ al4|4vy N+2|R%|480|22 ~ 8

All ~ al6|4vy N+1|94 |450|10 ~ 20
Al2 ~ a2 |4y N+1|9«4 |450|10 ~ 20
Al3 ~ a4 |3y N+2|94 |200|1 ~ 29
Ald ~ a6 |3SAS +3 |24 |490|26 ~ 4

Al5 ~ a8 |6¥ N= |24 98029 ~ 1

Al6 ~ al0|6Yy N= |94 |980|29 ~ 1

Donne n°16

Al ~ al0|2¢ S +3|84 |150|11 ~ 19
A2 ~ al2|3¢ S +3|8a |170|20 ~ 10
A3 ~ al4|3SAS = |84 |400(|24 ~ 6

A4 ~ al6|4¢ S +1|De|150|11 ~ 19
A5 ~ a2 |3SAS +1|Av|430|28 ~ 2

A6 ~ a4 |3¢ S +2|84 |150|11 ~ 19
A7 ~ a6 |3¢ N+2|4e |150|11 ~ 19
A8 ~ a8 |3¢ S +2|84 |150|11 ~ 19
A9 ~ all|3¢ S +2|De|150|11 ~ 19
Al0 ~ al3|2¢ S +2|8e |130|1 ~ 29
All ~ al5|5¢ S = |4v |400|24 ~ 6

Al2 ~al |3¢ S +2|8e |150|11 ~ 19
Al3 ~ a3 |3¢ S +1|De|130|1 ~ 29
Ald ~ a5 |66 S = |Ve|920|30 ~ 0

Al5 ~ a7 |4¢ S +1|De|150|11 ~ 19
Al6 ~ a9 |3SAS = |84 |400|24 ~ 6

Donne n°18

Al ~ a9 |4v E = |Re |-420|11 ~ 19



A2

l

all|5ax N -2 |9¥ |-300| 10

A3 ~ al3|5v W-1 |4¢ |50 |19
A4 ~ al5|4ex N -1 |Ae¢|-100| 14
A5 ~al |4y W= |4e |-420]|7
A6 ~ a3 |5v W-1|Re|50 |19
A7 ~ a5 |5v W-1|Re|50 |19
A8 ~ a7 |4y W +1l|4e |-450]|3
A9 ~ al0|3vy W+1|4e |-170]|12
Al0 ~ al2 |44 N = |Ae¢|420 |28
All ~ al4|5v W-1|Re |50 |19
Al2 ~ al6|6Y W-2 |Ra|100 |24
Al3 ~ a2 |54xN -3 |R¢|-500]|0
Ald ~ a4 |44 N = |Ae¢|420 |28
Al5 ~ a6 |4y E = |xe |-420|7
Al6 ~ a8 |44 N = |Ae¢|420 |28
Donne n°19

Al ~ a8 |3SAN -1 |2¢ |-50 |11
A2 ~ al0|4% S +1|Ae¢|150 |24
A3 ~ al2|4% S = |A¢|130 |22
A4~ ald|4ex W-3 |54 | 800 |30
A5 ~ al6|3SAN -3 |5¢ |-150|0
A6 ~ a2 |3SAN -1 |5¢ |-50 |11
A7 ~ a4 |3SAN -1 |2¢ |-50 |11
A8 ~ a6 |3v N -2 |2¢ |-100|2
A9 ~ a9 |2SAN = |24 |120 |20
Al10 ~ all|3SAN -1 |4¢ |-50 |11
All ~ al3|5# S -1 |A¢|-50 |11
Al2 ~ al5|3SAN +1|8a |430 |26
Al3 ~al |5 S -1 |A¢|-50 |11
Ald ~ a3 |44 S +1]|Ae¢|450 |28
Al5 ~ a5 |3SAN -1 |4¢ |-50 |11
Al6 ~ a7 |3SAN -1 |5¢ |-50 |11
Donne n°21

Al ~ a7 |1SAN+1|3#|120 |21
A2 ~ a9 |1SAE-1|Re|50 |5
A3 ~all|2# E-1|Re|50 |5
A4 ~ al3|2v N= |24 |110 |15
A5 ~ al5|2# E-1|Re|50 |5
A6 ~al |2¢ S = |44|90 |10
A7 ~a3 |2v N= |9¢|110 |15
A8 ~ a5 |2SAS = |4#|120 |21
A9 ~ a8 |1SAN+2|6¢ |150 |25
Al0 ~ al0|2# E -1 |Re|50 |5
All ~ al2|2vy N= |5¢|110 |15
Al2 ~ ald|2ex E -4 |R4| 800 |30
Al3 ~ al6|2v N-1|9¢|-100|0
Al4 ~ a2 |4% E -3 |Re|150 |25

l

l

l

l

l

A2 ~all|4y E = |Re |-420|11
A3 ~ al3 |4« W-1|3v |50 |25
A4 ~ als|2vy W+2|3¢ |-170] 18
A5 ~al |2y W+1|9¢ |-140]|20
A6 ~ a3 |4y W+1|Ae |-450|5
A7 ~ a5 |2v E +3|Rea |-200]|15
A8 ~ a7 |4exS -1 |Av|-200]|15
A9 ~ al0|4e W= |Ae |-130]|22
Al0 ~ al2|24x N +1|Dv | 870 |30
All ~ al4 |4y W +1|Ve |-450|5
Al2 ~ al6|34xN = | V& |730 |28
Al3 ~ a2 |4v E +2|Re |-480|0
Ald ~ a4 |4v E -1 |Ra |50 |25
Al5 ~ a6 |4y E +1|Rea |-450|5
Al6 ~ a8 |4y E +1|Rea |-450|5
Donne n°20

Al ~ a8 |3SAW= |3¢ |-600 |24
A2 ~ al0|3SAW +2|4e |-660|7
A3 ~ al2|3SAE +2|xe |-660|7
A4 ~ al4|3SAW +1 |2« |-630|18
A5 ~ al6|3SAW+2|7¢ |-660|7
A6 ~ a2 |3SAW+2|7¢ |-660|7
A7 ~ a4 |3SAE +2|6# |-660|7
A8 ~ a6 |3SAW +1|4¢ |-630]|18
A9 ~ a9 |3SAW+3|7¢ |-690|0
Al0 ~ all|3SAW +1|Vv|-630|18
All ~ al3|3SAW +1|Vv|-630|18
Al2 ~ al5|4vy W-1 |2« |100 |27
Al3 ~ al |3SAW+2|4e |-660|7
Al4d ~ a3 |6SAW-2 | Vv |200 |30
Al5 ~ a5 |6« W-1 |7¢ |100 |27
Al6 ~ a7 |3SAE +1|Ve|-630|18
Donne n°22

Al ~ a7 |3SAE = |7 |-600]|11
A2 ~ a9 |3SAE = |4# |-600]|11
A3 ~ all|3SAE +2|2¢ |-660]2
A4 ~ al3|3SAW= |x¥ |-600]|11
A5 ~ al5|2v W+1|A#&|-140|20
A6 ~al |24 W-1 |xv |100 |24
A7 ~ a3 |3SAW-1 |3v |100 |24
A8 ~ a5 |3SAE +1|8v |-630|4
A9 ~ a8 |2eax W= |8¢ |-670]|0
Al10 ~ al0|3SAW -2 |x¥ | 200 |29
All ~ al2|3SAE = |8v |-600]|11
Al2 ~ al4|3SAE -2 |8v | 200 |29
Al3 ~ al6|3SAE = |2¢ |-600]|11
Al4 ~ a2 |3SAE -1 |6v |100 |24

19
19
28
19
10

26

30

19

19



Al5 ~ a4 |2v

N= |8¢|110 |15

Al6 ~ a6 |3¢ E -4 |Re|200 |28
Donne n°23

Al ~ a6 |4y W-1|A%|100 |18
A2 ~ a8 |4y W-2|34 |200 |29
A3 ~ al0|4y W= |A%|-620|3

A4 ~ al2|4vy W-1|34 |100 |18
A5 ~ ald|4vy W-1|34 |100 |18
A6 ~ al6|4vy W-1|34 |100 |18
A7 ~ a2 |4y W-1|34 |100 |18
A8 ~ a4 |4y W-1|A%|100 |18
A9 ~ a7 |3y W= |A%|-140|7

Al0 ~ a9 |5#xN -3|4v |-800|0

All ~ all|4y W= |34 |-620|3

Al2 ~ al3|4vy W-1|34 |100 |18
Al3 ~ al5|4vy W -2|34 | 200 |29
Al4 ~ al |4y W-1|34 |100 |18
Al5 ~ a3 |3y W= |3s |-140]|7

Al6 ~ a5 |4y W-1|34 |100 |18
Donne n°25

Al ~ a5 |1SAS +1|xs |120 |29
A2 ~ a7 |1SAS = |x¥ |90 |20
A3 ~ a9 |24 E +1|A%|-140|3
A4 ~ all|1SAS = |9v |90 |20
A5 ~ al3|2v W +1|De |-140]3
A6 ~ al5|3SAS -1 |xs |-50 |11
A7 ~al |3y W= |De|-140|3
A8 ~ a3 |4¢ N -1 |Dv|-50 |11
A9 ~ a6 |1SAS = |44 |90 |20
Al0 ~ a8 |1SAS +1 |4« |120 |29
All ~ al0|24 E +1|A%|-140|3
Al2 ~ al2|1SAS = |x¥ |90 |20
Al3 ~ al4|1SAS = |x¥ |90 |20
Al4 ~ al6|3SAS -2 |xv |-100|8
Al5 ~ a2 |1SAS = |44 |90 |20
Al6 ~ a4 |1SAS = |8¥ |90 |20
Donne n°27

Al ~ a4 |34 N= |A%|140 |16
A2 ~ a6 |44 N-1 |A%|-50 |5

A3 ~ a8 |34 N= |A%|140 |16
A4 ~ al0|34 N= |A%|140 |16
A5 ~ al2|4e4 N-1|Dv|-50 |5

A6 ~ ald|4e S -1 |Ve|-50 |5

A7 ~ al6|24 N+1|A%|140 |16
A8 ~ a2 |4axN-1|A%|-100]|0

A9 ~ a5 |24 N+2|Dv |170 |27

Al0

l

a7 |44 N= |Dv [420 |30

l

l

l

l

l

l

l

l

l

l

15

12

27
12
12
12
12
12
23
30
27
12

12
23
12

10
27
10
27
19
27
19
10

27
10
10
22
10
10

14
25
14
14
25
25
14
30

Al5 ~ ad |2SAE +1|4% |-150|18 ~ 12
Al6 ~ a6 |3SAW = |54 |-600|11 ~ 19

Donne n°24

Al ~ a6 |4v S +3|4e¢ |510 |13
A2 ~ a8 |4y S +3|4¢ |510 |13
A3 ~ al0|4vy S +3|4¢ |510 |13
A4 ~ al2|4vy S +3|4¢ |510 |13
A5 ~ ald|4vy S +3|4¢ |510 |13
A6 ~ al6|4vy S +3|4¢ |510 |13
A7 ~ a2 |4y S +3|4¢ |510 |13
A8 ~ a4 |4v S +3|4¢ |510 |13
A9 ~ a7 |4v N+3|Re|510 |13
Al0 ~ a9 |4y S +3|4¢ |510 |13
All ~ all|4vy S +3|4¢ |510 |13
Al2 ~ al3|4v N +3|Re|510 |13
Al3 ~ al5|4vy S +3|4¢ |510 |13
Al4d ~ al |6v S +1|4e |1010]|30
Al5 ~ a3 |4y S +3|4¢ |510 |13
Al6 ~ a5 |3SAN+4|Re|520 |28
Donne n°26

Al ~ a5 |3SAS = |5v |600 |24
A2 ~ a7 |14 N+3|Av|170 |15
A3 ~ a9 |44 N-1 |94 |-100]|1
A4 ~ all|3SAS = |5v |600 |24
A5 ~ al3|2SAN= |xv |120 |4
A6 ~ al5|34 N= |Av|140 |8
A7 ~al |3SAS = |5# |600 |24
A8 ~ a3 |34 N+1|94 |170 |15
A9 ~ a6 |44 N= |Av|620 |29
Al0 ~ a8 |44 N= |Av|620 |29
All ~ al0|24 N+1|Av|140 |8
Al2 ~ al2|4e4 N-1 |A&|-100]|1
Al3 ~ al4 |24 N+2|Av|170 |15
Ald ~ al6|2vx E -2 | Ve | 500 |20
Al5 ~ a2 |24 N+1|Av|140 |8
Al6 ~ a4 |24 N+2|A#s|170 |15
Donne n°28

Al ~ a4 |1SA E-2 |R%|100 |23
A2 ~ a6 |3¢ E-1|Re|50 |11
A3 ~ a8 |1SA E-2 |7# |100 |23
A4 ~ al0|1SA E-1 |2« |50 |11
A5 ~ al2|1SA E-1|7# |50 |11
A6 ~ al4|1SA E-1 |x# |50 |11
A7 ~ al6|1SA E+1|7# |-120]|0
A8 ~ a2 |1SA E-1 |A%|50 |11
A9 ~ a5 |1SA E-1 |2# |50 |11
Al0 ~ a7 |3¢ E-1|Re|50 |11

l

l

17
17
17
17
17
17
17
17
17
17
17
17
17
0

17
2

15
29

26
22

15

22
29
15
10
22
15

19

19
19
19
30
19
19
19



All ~ a9 |24 N+1|A#%|140 |16
Al2 ~ all|4e4 N-1 |x¥ |-50 |5

Al3 ~ al3 |34 N+1|x¥ |170 |27
Al4 ~ al5|24 N +1|x¥ |140 |16
Al5 ~ al |5% E -3 |84 |150 |24
Al6 ~ a3 |34 N= |A%|140 |16
Donne n°29

Al ~ a3 |24 S +1|54 |140 |20
A2 ~a5 |24 S -1 |Dv|-100|8
A3 ~ a7 |34 S +1|54 |170 |25
A4 ~ a9 |2SAS +3|5¢ | 210 |30
A5 ~ all|2SAS = |3v |120 |14
A6 ~ al3|3vx W-1 |Res |200 |28
A7 ~ al5|3SAS -3 |4v |-300|0
A8 ~ al |2SAS -2 |4v |-200]|2
A9 ~ a4 |34 S +1|Dv|170 |25
Al0 ~ a6 |3¢ S +1|Vv|130 |18
All ~ a8 |2SAS +1|8% |150 |22
Al2 ~ al0|2SAS = |4v |120 |14
Al3 ~ al2|2vy W= |Re|-110|4
Al4 ~ al4|3SAS -1 |3v |-100|8
Al5 ~ al6|24 S -1 |Dv|-100|8
Al6 ~ a2 |2SAS = |4v |120 |14
Donne n°31

Al ~ a2 |1SAW +1|5&]|-120|3

A2 ~ a4 |24 E -2 |84 |100 |26
A3 ~ a6 |24 E -2 |xe |100 |26
A4 ~ a8 |34 E -2 |24|100 |26
A5 ~ al0|24 E -1|5v|50 |18
A6 ~ al2|24 E -2 |xe|100 |26
A7 ~ al4|1SAW= |9v|-90 |12
A8 ~ al6|1SAW +1|7#]|-120|3

A9 ~ a3 |1SAW -2 |34 |100 |26
Al0 ~ a5 |24 E = |8e|-110]|7

All ~ a7 |1SAW= |34]-90 |12
Al2 ~ a9 |1SAW-1 |9#|50 |18
Al3 ~ all|1SAW= |9&]|-90 |12
Ald ~ al3|24 E +1|7v|-140|0

Al5 ~ al5|24 E = |5v|-110]|7

Al6

l

al |1SAW-1 [4¢ |50 |18

l

l

l

14
25

14

14

10
22

16

30
28

12

16
26
22
22
16

27

N

12

18
27

23
18
12
18
30
23
12

All ~ a9 |1SA E-1 |A#|50 |11 ~ 19
Al2 ~ all|1SA E-2 |2% |100 |23 ~ 7
Al3 ~ al3|1SA E-2 |A%|100 |23 ~ 7
Al4 ~ al5|1SAXE-2 |A%|300 |30 ~ O
Al5 ~al |1SA E= |A%|-90 |2 ~ 28
Al6 ~ a3 |1SA E-3 |A%|150 |28 ~ 2
Donne n°30

Al ~ a3 |4vyN= |Ve |420 |20 ~ 10
A2 ~ a5 |3¥yN= |Re |140 |7 ~ 23
A3 ~ a7 |4vyN= |Ve |420 |20 ~ 10
A4 ~ a9 |4vyN= |Ve |420 |20 ~ 10
A5 ~ all|4vyN-1|Ve|-50 |3 ~ 27
A6 ~ al3|4vyN= |Ve |420 |20 ~ 10
A7 ~ al5|4vyN= |Ve |420 |20 ~ 10
A8 ~al |4vyN= |Re 420 |20 ~ 10
A9 ~ a4 |2¢N+1|Ve |140 |7 ~ 23
Al0 ~ a6 |4¥YyN= |Ve |420 |20 ~ 10
All ~ a8 |4vyN= |Ve |420 |20 ~ 10
Al2 ~ al0|4vyN= |Ve |420 |20 ~ 10
Al3 ~ al2|4¥yN-1 |Ve |-50 |3 ~ 27
Ald ~ ald|4vyN= |Ve 420 |20 ~ 10
Al5 ~ al6|4vyN= |A%|420 |20 ~ 10
Al6 ~ a2 |54S -3 |D¢ |-150|0 ~ 30
Donne n°32

Al ~ a2 |66 W= |A%|-1370|3 ~ 27
A2 ~ a4 |5¢ W+1|9v |-620 |23 ~ 7
A3 ~ a6 |2¢ E +5|D¥|-190 |30 ~ O
A4 ~ a8 |5¢ W+1|A&|-620 |23 ~ 7
A5 ~ al0|3SAW +4|6s |-720 |12 ~ 18
A6 ~ al2|3SAW+4|A%|-720 |12 ~ 18
A7 ~ al4|24 E +4|Dv|-230 |28 ~ 2
A8 ~ al6|3SAW+3 |2« |-690 |19 ~ 11
A9 ~ a3 |3vxS -3 |R#|-500 |26 ~ 4
Al0 ~ a5 |66 E = |Dv|-1370|3 ~ 27
All ~ a7 |3SAW +4|6& |-720 |12 ~ 18
Al2 ~ a9 |3SAW +4|2#& |-720 |12 ~ 18
Al3 ~ all|6¢ W= |A%|-1370|3 ~ 27
Al4d ~ al3|6¢ E = |5& |-1370|3 ~ 27
Al5 ~ al5|3SAW +4 | 6% |-720 |12 ~ 18
Al6 ~ al |3SAW+3|6# |-690 |19 ~ 11



